10

11

12

13

14

15

16

17

18

19

20

21

N
w

ZEFR 3

ERX-SST-RC

iNox (I
e od

AT F A

PHER, SREREH

e
RIBATANNEREGE (PA) BRHRBAE, KBS, IEIHHE.

4]
BERESE, KRG, RE

PR R SHEIR
REARE (POM) 8RR AR, B,

Ly- 2ithe

WA fIRSRER A E TN, FEEH, B, ARHEIZ

BRI, FEMEE N ERE.

- ERX-SST-RC: AISI303 FiENER, L E Lo

- ERX-SST-p-RC: AISI 303 REEMEFT, #HEI AT, 754 UNI 947 :1SO
4753 (B0 BAS T -).

YHIER B

XA TIRE 558143 2 8], BT 5 Fief.
BAEFERHREFRERNERE,
BRERTERZZEE, R AEZ IR
SHEHEREER BT FREUELL, L FR:
- N FERMTEBES

- MHE D TINE, FRFBM

- FIERELE,

mRh

AETNFREEATEEREND S, BETEHNRAMERS.
Fitt, FRBTHAN D (BIRESITEBER) LANEE, HRIREITE
TIMF RSB BLTT I (BREUEAT) BT T i RISR

FL L, BIRNEREBRBENDRTS TIEFHRIRE, #ITER
IS SR, ERX.78 I FARTEHEAN 490 N NIRRT, HEEB AR
81 100,000 REYEER(E, EASREZH ME) o
RGBT AN E SRR A 1, (EELESARI T FREEB MRV
RMAME, e T ER TR FERRIENTNIE,

FZFuieA
BT ENEN TR, BIHERS AT R E T EH R ER
R E. SRBIRS, OIS ER 5 AEE.

RRRMAEHES

- CT-S: (BN -) BRR R S5 T HE W,

- GN 111: (BIRIT -) DA HREEI .

- QV-T: (BN -) B2 GFAIA B IS

- GN111.2: (BT -) FEWEL,

- GN 111.4: (B -) B2 G E IR IE L

HEIXE
160.000
140.000
120.000
100.000

80.000
60.000
40.000

20.000

E of N

I~

—

400 450 500 550 600 650 700

aa
1 2/2025 €elesa+Ganter

ELESA 1 GANTER A REFTE A
E5ERENE AL



2/2

ERX-SST-RC | miE®FiA
R ERX-SST-RC ERX-SST-p-RC
- ‘ | T
<= =
1 K
‘ = =
Iy
d S _ ‘
Ri .
d
(] ﬂ)-e—eee—e— ------ )F =
L
ERX-SST-RC STAINLESS STEEL
X85 bi7: | R dew L D H Hi1 h h1 h2 h3 di l R1 st d 52
236070-C1 ERX.44-SST-M6-C1-RC 44 M6 52 16 325 36 10 295 6 25 12 11 21 18 15
236080-C1 ERX.63-SST-M8-C1-RC 63 M8 725 19 43 47 13 375 8 345 15 135 225 20 26.8
236090-C1 ERX.78-SST-M10-C1-RC 79 MI10 915 245 54 58 18 47 12 44 19 16 24 24 47.8
ERX-SST-p-RC STAINLESS STEEL
3 e R dg¢ L D H H h h h d | u R st 52
236071-C1  ERX.44-SST-p-M6x10-C1-RC 4 M6 52 16 325 36 295 6 25 12 10 11 21 18 15.3
236073-C1  ERX.44-SST-p-M6x20-C1-RC 4 M6 52 16 325 36 295 6 25 12 20 11 21 18 17.2
236075-C1  ERX.44-SST-p-M6x30-C1-RC 44 M6 52 16 325 36 295 6 25 12 30 11 21 18 19
236083-C1 ERX.63-SST-p-M8x20-C1-RC 63 M8 725 19 43 47 375 8 345 15 20 135 225 20 322
236085-C1 ERX.63-SST-p-M8x30-C1-RC 63 M8 725 19 43 47 375 8 345 15 30 135 225 20 35.7
236087-C1 ERX.63-SST-p-M8x40-C1-RC 63 M8 725 19 43 47 375 8 345 15 40 135 225 20 38.6
236095-C1 ERX.78-SST-p-M10x30-C1-RC 79 MI10 915 245 54 58 47 12 44 19 30 16 24 24 66
236097-C1 ERX.78-SST-p-M10x40-C1-RC 79 MI10 915 245 54 58 47 12 44 19 40 16 24 24 71.2
236099-C1 ERX.78-SST-p-M10x50-C1-RC 79 MI10 915 245 54 58 47 12 44 19 50 16 24 24 81.5
ELESA fl GANTER X REBFTEATAL, (€6 -
BHEAETE AL, elesa+Ganter 2/2025 2

10

11

12

13

14

15

16

17

18

19

20

21

22

2

w

EEFR 3



